NYS COMMON CORE MATHEMATICS CURRICULUM End-of-Module Assessment Task

Name Date

1. Gloria says the two expressions % (12x + 24) — 9x and —6(x + 1) are equivalent. Is she correct?
Explain how you know.

2. Agrocery store has advertised a sale on ice cream. Each carton of any flavor of ice cream costs $3.79.

a. If Millie buys a combination of strawberry ice cream and chocolate ice cream cartons, write an
algebraic expression that represents the total cost of buying the ice cream.

b. Write an equivalent expression for your answer in part (a).

c. Explain how the expressions are equivalent.

COMMON Module 3: Expressions and Equations n
I CORE Date: 3/22/14 eng' a_g' e y

) This work is licensed under a
© 2013 Common Core, Inc. Some rights reserved. commoncore.org (r.:c) BY-NC-SA Creative Commons Attribution-Noncommercial-ShareAlike 3.0 Unported License.

358


http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US

NYS COMMON CORE MATHEMATICS CURRICULUM End-of-Module Assessment Task

3. Anew park was designed to contain two circular gardens. Garden A has a diameter of 50 m, and the
garden B has a diameter of 70 m.

a. If the Gardner wants to outline the gardens in edging, how many meters will be needed to outline
the smaller garden? (Write in terms of t.)

b. How much more fencing will be needed for the larger garden than the smaller one? (Write in terms
of .)

c. The Gardner wishes to put down weed block fabric on the two gardens before the plants are planted
in the ground. How much fabric will be needed to cover the area of both gardens? (Write in terms
of .)
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4. A play court on the school playground is shaped like a square joined by a semi-circle. The perimeter
around the entire play court is 182.8 ft., and 62.8 ft. of the total perimeter comes from the semi-circle.

a. What s the radius of the semi-circle?

b. The school wants to cover the play court with sports court flooring. Using 3.14 for t, how many
square feet of flooring does the school need to purchase to cover the play court?
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5. Marcus drew two adjacent angles.
a. If ZABC has a measure one-third of ZCBD, then what is the degree measurement of ZCBD?

C

b. If £CBD = 9(8x + 11) degrees, then what is the value of x?

6. The dimensions of an above-ground, rectangular pool are 25 feet long, 18 feet wide and 6 feet deep.

a. How much water is needed to fill the pool?
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NYS COMMON CORE MATHEMATICS CURRICULUM End-of-Module Assessment Task

b. If there are 7.48 gallons in 1 cubic foot, how many gallons are needed to fill the pool?

c. Assume there was a hole in the pool, and 3366 gallons of water leaked from the pool. How many
feet did the water level drop?

d. After the leak was repaired, it was necessary to resurface (lay a thin layer of concrete to protect) the
sides of the pool. Calculate the area to be covered to complete the job.
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7. Gary is learning about mosaics in Art class. His teacher passes out small square tiles and encourages the
students to cut up the tiles in various angles. Gary’s first cut tile looks like this:

T

3m

(m—101° E

a. Write an equation relating £TIL with £LIE.

b. Solve form.

c. Whatis the measure of £TIL?

d. Whatis the measure of ZLIE?
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A Progression Toward Mastery

STEP 1 STEP 2 STEP 3 STEP 4
Assessment Missing or incorrect = Missing or incorrect = A correct answer A correct answer
Task Item answer and little answer but with some evidence  supported by
evidence of evidence of some of reasoning or substantial
reasoning or reasoning or application of evidence of solid
application of application of mathematics to reasoning or
mathematics to mathematics to solve the problem, | application of
solve the problem solve the problem or an incorrect mathematics to
answer with solve the problem
substantial
evidence of solid
reasoning or
application of
mathematics to
solve the problem

1 7.EE.A.1 | Student demonstrates a Student makes a Student writes each Student writes each
limited understanding of | conceptual error in expression in correct expression in correct
writing expressions in writing one of the standard form, —6x + 6 | standard form, —6x + 6
standard form and expressions in standard and —6x — 6. Student and —6x — 6. Student
determining if they are form but writes the indicates the expressions | indicates the expressions
equivalent expressions. other expression are not equivalent, but are not equivalent and
Student shows some correctly and an no explanation is provides an appropriate
knowledge of the appropriate answer and provided or the explanation.
distributive property. explanation is provided. explanation is incorrect.

Student demonstrates a
solid understanding but
makes one
computational error,
such as

—6(x + 1) is writen as
—6x + 6 and a correct
response is provided as
to the expressions being
equivalent.

2 7.EE.A.2 | Student work shows Student makes a Student writes a correct Student writes a correct
little evidence of correct | conceptual error such as | algebraic expression for algebraic expression to
reasoning, suchas s + ¢, | distributing or factoring part (a), an equivalent represent the total cost
but no further work is incorrectly. expression for part (b), of 2 flavors of ice cream,
shown or is incorrect. but the explanation for such as 3.79(s + ¢),

part cis incorrect or not writes an equivalent
Student does not shown. expression for part a,
demonstrate an such as 3.79s + 3.79c,
understanding of the and provides an
meaning of writing appropriate explanation
equivalent expressions on how the expressions
are equivalent, such as
applying the distributive
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property. Sample
answers given for parts
(a) and (b) could be
reversed and the
explanation would
include factoring the
expression.

3 a Student demonstrates Student makes a Student recognizes the Student finds the
knowing circumference conceptual error such as | concept of circumference of the
is used but no further finding the area of the circumference must be smaller garden correctly

7.G.B.4 correct work is shown. smaller garden correctly, | used but makes a as 50 m.

6257. computational error or
labeling error.

Student uses the

circumference formula

C = 2mr but uses the Student finds the correct

diameter instead of the circumference but does

radius to get an answer not leave the answer in

of 100 m. terms of , and instead
uses 3.14, getting an

Student makes two or answer of 157 m.

more computational

and/or labeling errors.

b Student demonstrates Student makes a Student recognizes the Student finds the
knowing circumference conceptual error, such as | concept of circumference of the
but no further correct finding the area of the circumference must be larger garden correctly

7.G.B.4 work is shown. larger garden incorrectly, | used but makes a as 70mm AND
1225m. computational error or determines the
labeling error. difference between the
Student finds the larger and smaller
circumference but uses Student finds the gardens to be 20w m.
the diameter instead of circumference of the
the radius and larger garden correctly
gets 140 m. as 70 m, but does not
find how much more
Student makes two or fencing is needed for the
more computational larger garden compared
and/or labeling errors. to the smaller garden or
finds it incorrectly.
Student finds the correct
circumference but does
not leave the answer in
terms of m, and instead
uses 3.14, getting an
answer of 439.6 m.
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c Student does not find Student makes a Student finds the area of | Student finds the area of
the areas of the gardens | conceptual error such as | both gardens correctly, both gardens correctly in
but adds the total multiplying the radius by | in terms of m, as 1225n terms of r, as 1225w

7.G.B.4 circumferences of both 2 instead of squaring the | and 6257, but does not and 6257 AND finds the
the smaller and larger radius. In this case, the find the total sum for total of fabric needed for
garden to get 120m. areas would be both gardens. both gardens 1850w m?.
1407 and 507, The
total is = 190w m?2. Student uses the area
formulas correctly but
Student makes two or makes one
more computational computational or
and/or labeling errors. labeling error (m?).
Student finds the correct
areas, but does not leave
the answer in terms of
and instead uses 3.14,
getting an answer of
5809 m?.
4 a Student answer is Student makes a Student makes a Student correctly
incorrect or missing. conceptual error such as | computational error determines the radius of
Student work shows finding circumference or | such as dividing the semi-circle of 20 ft.
7.G.B.4 little or no evidence of area of the semi-circle incorrectly. by dividing the diameter
correct reasoning. but uses the diameter as of 40 by 2.
20 in doing so.
Student may have an
incorrect answer, but if
the incorrect answer
given is half of the
answer from part (a),
then student receives
full credit.

b Student answer is Student makes a Student makes one Student finds the overall
incorrect or missing. conceptual error such as | computational or area correctly as
Student work shows using the wrong labeling error. 2,228 ft2.

7.G.B.4 little or no evidence of formulas for area or
correct reasoning. subtracting the areas as Student finds the correct
in area of a shaded area of the square,
region. 1,600 ft? and the
semicircle, 628ft? but
Student makes two or does not add them to
more computational or get the total area.
labeling errors.
Student does not use
3.14 for mr as instructed
and leaves the area of
the semicircle in terms of
.
Student finds the area of
the square correctly but
finds the area of the
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entire circle, not the
semicircle, but finishes
the question correctly. If
so, the answer is

2,856 ft2.

5 a Student work shows Student makes a Student makes one Student correctly defines
little understanding of conceptual error such as | computational error in the variable, translates
supplementary angles. translating the angles solving the equation. each angle into algebraic

7.G.B.5 incorrectly, but all expressions,

further work is correct. im, m, writes an
equation,

Student makes two or 1

. -m +m = 180, solves

more computational 3

errors. the equation correctly,
m = 135, and finds the
measure of 2CBD, 135°.
Students are not limited
to using equations to
solve this problem. For
example, they could also
set up an appropriate
tape diagram.

b Student work shows Student does not write a | Student writes a correct | Student uses the answer
little evidence of correct | correct equation using equation based on their from part (a) to find the

7.G.B.5 ree?s‘oning, such as the answer from Part (@) | answer from part (a) but | correct value for x = %

writing f'a\n equivalent but sqlves the written makes onfz . Student may have an

S)((g;ejsici; f:sr72x + o equa"cciog 'co'rre?tly | colm'putatlonal errorin incorrect answer but if

but wi ! p.ro'v| editis of equa solving. the equation written is

ut with no further correct difficulty.

work shown. correct based on a
wrong answer from part
(a) and the equation was
solved correctly, then full
credit can be given.

6 a Student work shows Student makes a Student uses the volume | Student correctly uses
little evidence of correct | conceptual error suchas | formula but makes one the volume formula for a
reasoning not finding the volume computational or rectangular prism to find

7.G.B.6 and finding the surface labeling error. how much water is
area incorrectly. needed to fill the pool,
2,700 ft3
Student makes two or
more computational
and/or labeling errors.

b Student work shows Student makes a Student knows to use Student uses his or her
little evidence of correct | conceptual error suchas | the volume from part a answer from part a and
reasoning, such as dividing the volume by and multiply by 7.48 but | multiplies it by 7.48 to

7.G.B.6 adding or subtracting 7.48 instead of makes one find the total number of
7.48 or not using the multiplying. If so, computational error. gallons needed to fill the
volume form part a. answer would be 361 pool. If part (a) was
gallons. answered correctly, then
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the correct answer is
20,196 gallons.

c Student work shows Student made a Student demonstrates a Student finds the new
little evidence of correct | conceptual error such as | solid understanding but depth of the pool after
reasoning. finding the change in makes one the water leaked and

7.G.B.6 gallons but incorrectly computational error. determines the change
Student finds the correct | uses the volume formula in the height as 1 ft.
amount of gallons with gallons. For Student correctly
remaining, 16,830, but example, determines the new Student can solve in a
no further work is shown 16830 =25%x 18X h height, 5 ft., after the number of ways such as
or correct. h =374 water leaked but did not | finding the number of
find the change in the gallons remaining,
height. dividing by 7.48 to
determine the new
volume, then setting up
an equation such as
2250 =25%x18 X hto
determine the new
height and finally,
subtracting the height
from the original height
to get the change.
Another approach is to
write an equation to find
the height of the volume
that was lost.

d Student work shows Student makes a Student demonstrates a Student correctly
little evidence of correct | conceptual error such as | solid understanding of determines the surface
reasoning. using the wrong area surface area but makes area of the sides to be

7.G.B.6 formulas or only finding one computational or resurfaced with

Student finds the area of | the area of 3 of the labeling error. appropriate work shown.
one of the sides, either surfaces. 25x 18+ 2(6 x 18)
450,108, or 150 but no Student gets an answer +2(6x25) = 966 ft*
further correct work is Student makes two or of 1,416 ft? by finding
shown. more computational or the surface area of all

labeling errors. surfaces, including the

top base.
7 ab Student work shows Student makes a Student writes a correct Student writes and
little evidence of correct | conceptual error writing | equation but makes one solves a correct
reasoning. an incorrect equation for | computational error. equation,
7.G.B.5 part a but solves it 3m+m—10=90

Student writes a correct correctly for part b. m=25
equation but no further with all appropriate work
work or correct work is Student writes a correct shown.
shown. equation but makes a

conceptual error when

solving the equation,

suchas2m —10 =90

m =50
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Student writes a correct
equation but makes two
or more computational
errors.

c,d Student work shows Student finds one angle Student uses his or her Student correctly uses
little evidence of measure correctly with answer from part b his or her answer from
substituting the value of | appropriate supporting replacing the value into part b and substitutes its

7.G.B.5 m into the given angle work. the given angle value into the given
measures. Instead, measures £TIL and angle measures to find
student assumes one Student makes two or 2LIE but makes one the measure of £TIL
angle is 25° and finds more computational computational error. and 2LIE. If the
the complement for the errors. student’s answer from
other angle to be 65°. part b was correct, then
the measure of
of £TIL = 75° and
¢LIE = 15°.
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Name

Date

1. Gloria says the two expressions % (12x + 24) — 9x and —6(x + 1) are equivalent. Is she correct?
Explain how you know.

+ : ~ D, Glovia is nok covrect.

'107" 'lZLD 5 (-l‘(’f;;?[-lo)(ﬂ The standard form of ﬁ(le y24)-9x 15
T“sz)* "'(ZLD =1 . ~pxtl ondhe standarel foym of = x+is
3x + (o ~9X ~bx-t ~lexlb. ~ox+b i< not etouwclen* o
»x-G% +b el .

~Ux f(p

2. Agrocery store has advertised a sale on ice cream. Each flavor ice cream costs $3.79.

a. If Millie buys a combination of strawberry ice cream and chocolate ice cream cartons, write an

algebraic expression that represents the total cost of buying the ice cream.

319(8+C)

b. Write an equivalent expression for your answer in part (a).

27795 + 3174c

c. Explain how the expressions are equivalent.

Partb is thecame expression as perta wiihhe dishibutive property
applied and in standard foym,
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3. Anew park was designed to contain two circular gardens. Garden A has a diameter of 50 m, and the
garden B has a diameter of 70 m.

a. If the Gardner wants to outline the gardens in edging, how many meters will be needed to outline the
smaller garden? (Write in terms of m)

(=2Wr r=3%50°25 the smaller garden will neecl

Lb 25?;?:3 50nrm of edging

b. How much more fencing will be needed for the larger garden than the smaller one? (Write in terms

of m)
(=277 ¢4-T0=35  pqer gaiden-smallergarden
C=2n(35) 70N 501Ym
200M |
Covm The \arger gmden needs 20Tmmeie tehcing.

¢. The Gardner wishes to put down weed block fabric on the two gardens before the plants are planted
in the ground. How much fabric will be needed to cover the area of both gardens? (Write in terms of
)

A\arqu; ¥ Asmaller |

Ner T \g5pN M of fabr

']1'[1‘5;' ;“éliiw’ i’he ovea O‘ bokh (da'den&.
12251r 4

cwill be needec 10 tover
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4. A play court on the school playground is shaped like a square joined by a semi-circle. The perimeter
around the entire play court is 182.8 ft., and the circumference of the semi-circle is 62.8 ft.

a. What is the radius of the semi-circle?

(=028 (92.3-.3\‘-{ =20 r=205% |
:}7(-211 r)= 028 34 G2 8¢ Theradiusol e semi-ciicte VS 20f)
vy =L2.% brs_

ov

b. The school wants to cover the play court with sports court flooring. Using 3.14 for 7, how many
square feet of flooring does the school need to purchase to cover the play court?
Afea.q,uw: v Avelsemiciicte

i j! ,“,.(z) | | - |
ﬁOSqO ):_ Jzz é‘q (20%) The schopl neeels o purchad enougn Pleormg
. Iy 2
1600+ 2 (3.4 (4o00)  TO (Ve 2,228 4%
\woo + 200(3 WD

oot Wis
2228
5. Marcus drew two adjacent angles.
a. If £ABC has a measure one-third of £CBD, then what is the degree measurement of CBD?
\ Lex M bethe measure of LCBD indegrees
B0+ LCBD=18C
A B D __Sm rm =150
iym =180
% = 2
(2)4m = \g0(3)
m= 135
b. If £CBD = 9(8x + 11), then what is the value of x?
125=9(gxr!l) 135 = G(€xri)
135 = T2% £99 3944 = XD~
135 -9g = T2x+99—<99 OF 5 = Sx +l
30 = T2x 1511 =8 F11-1)
o = = T&x -f'z l'-|=?x
’xz-l 4§ =3X§‘
pr A ;'- = x
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6. The dimensions of an above-ground, rectangular pool are 25 feet long, 18 feet wide and 6 feet deep.

a. How much water is needed to fill the pool?

V=wh 5
=25 1% 20

e

=2,700 f43 ¥

b. Ifthere are 7.48 gallons in 1 cubic foot, how many gallons are needed to fill the pool?
2,700 _
x ‘745 0 fillthe pool, 2096 gaons ave regced
24 G0V
1o 8 Lol
i§9 000
7ot 9600
c. Assume there was a hole in the pool, and 3366 gallons of water leaked from the pool. How many
feet did the water level drop?

5 . ’ = dwh - ’

o TIE PR 1) g V=J dar >d
B~ THS yso-251§ h Thewater level aroppx
,,@rgﬁ,ﬁi 4S0=4S0 -h one foot.

X T0
nuY I =h

d. After the leak was repaired, it was necessary to resurface (lay a thin layer of concrete to protect) the
sides of the pool. Calculate the area to be covered to complete the job.

Preq 4 \oe vessrtead = surlee avea - e of pre of e basess
Pae=5XKE  Ladeoad fhces 8 (ie-i5) aml (X -35)

(95-1%) + A8) + Qlle-25)
7 Al = 201cR) + LIS

— \S’H

=W Hep + Al & 300
Qlele 2
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NYS COMMON CORE MATHEMATICS CURRICULUM

End-of-Module Assessment Task

7. Gary is learning about mosaics in Art class. His teacher passes out small square tiles and encourages the
students to cut up the tiles in various angles. Gary’s first cut tile looks like this:
T

a. Write an equation relating £TIL with £LIE.
Im+ (m-10)=90
b. Solve form.
3m + (M-I = 90
3+ Mm-10 =90
4m -|0 =90
Um-1010=90H0
4m = |00
4m 4 = 1003
m = 25
c. Whatis the measure of £TIL?
3N
3(29)*15 o
Themeasue of LT\ is715°

d. Whatis the measure of ZLIE?

m -0
26-40= 15

The measuee d L L\E s | 59
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